Wandur National Park (Mahatma Gandhi
Marine National Park) is located in -

(A) Lakshadweep

(8) Tamil Nadu

(6) Andaman and Nicobar Islands

v () Puducherry

mmw(mmwvw

o) srafed & —
(A) e 3 e
(B) afierrg
(€) sm= 3R F@ER €9 W E 4

D) ggrdt # .
2/ Who presided the 7% All India States’

Peoples’ conference held at Udaipur?
(B) Jawahar Lal

Nehru
(D) Mahatma Gandhi

(A) K. M. Munshi

(C) ] B.Kriplani

IEIR A smﬁﬁ el WA S o
e GRS B W SR B AT Bl
off —
(A) 3. . g A (B) SraTaves e A
(©) ©. &, Foer (D) wEre W A
3. Bhatnerfort was builtby-

(A) Bhupat (B) Bar Singh

~*(C) Surat Singh (D) Jaisingh Il

ek fren frsr aeaman a?
() vra (B) = Rig
(C)Wﬁﬁ-’ (D) sraftiE 1K

Which Sufi Saint received the title. of
‘Sultan-i-Tariqin’?

(A) Sheikh Hamiduddin Nagori

(B) Khwaja Moinuddin Chishti

(C) Kaji Hamiduddin Nagori

(D) Sheikh Burhan Chishti

fver @t A DI W—Q—ﬁrﬁﬁfﬁ ?ﬁmnfa

//:'\/hich of the following Glacier is located in
the Nubra valley?

(A) Siachen (B) Hispar

(©) Baltoro ' (D) Batura

fyefefa aﬁ’»mr 1?11:1?: a1 W& A
safer 82

(B) fawume
(D) sTexT

5 A) frarfae WU
(©) FreR < . gt
6 Which ofthe following tribes lives in the Bay

of Bengal Islands of India?
(A) Juang (B) Jarawa
(C) Khasa (D) Kuki

ﬁﬁr#ﬁaﬁ#ﬂm%mammaﬁ

W & gl A I Y
o) g (B) W1,/ IRG-
(€)@ © @

7.~ Rajasthan contributes about ......... percent

of total crude oil production in India. ;
(A) 27t0 28 . (B)15t016 Ve
(C) 22t0 23 ~ (D) 18t0 19 2
Wﬁ“ﬂﬁﬁa(ﬁaﬁuﬁ)zﬁm

A ORA BT umaﬂ T e DT

2] _ \
(A) 27928 (B) 15 ??_16 ' _
() 2231 23 (D) 18119

8. Mani Kaul's film 'Duvndha is based on the
work of -

(B) Nathmal]oshl

(A) Vijaydan Detha
(D) Yadvendra

" (C) Kanhaiya Lal

Sethia” ‘Sharma
A @ @ R g R PR W
e €7 .
(A) RoTaR <2 (B) =orel W

. (C) e et fgE (D) ARaE W
9. /1n 2021, the Thomas Cup Trophy was lifted

by -

(A) China (B) Japan

(D) South Korea

are off? + (C) Indonesia
(A) ¥ EfAgE AN R _ '
(B) Z=roqT AiggE fawedlse - 20213 offr9 T gl & faorar € —
* (C) Fr BfgE AR ENOL LN (B) STaTT
. i »
(0) ¥Ry gReT foreedlxT ( )s@ﬁﬁm}’ ‘( )a’fawaﬁm i
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ad Answer

;3»,0-/How many cantonments of British soldiers
were there in Rajasthan at the time of the
béginning of the revolt of 18577
@5 ®) 6
©3 (D) 4

1857 @ Wiy oA EF @ <Py o i

S AT @ R wrafr of?
(A) 5 - (B) 6
©3 (D) 4

M. Gavriis a folk drama, based on the story of -
(&) Krishna-Kans
(B) Heer-Ranjha
(C) Shiv-Bhasmasur

(D) Pra;ap-Ai(har_

T O e 2, W ok # -
) P A we ®

- B Ee<in @ fgntr'\'

(&) ﬁm-gw Pl FAT TR

/D) SRTTH—giepar @ FAT R )
12. ‘Mount Popa’ vélcano is located in -

(A) Itaiy (B) Japan

(C) Indonesia . (D) Myanmar
TS AT SarerEl R & —

(A) gt 3§ - {B) ST %
(C) goemfmr % (D) =R #

‘Sagat Raso’ is written by -
(A). Jodhraj (B) Narpati Nalha
(C) Dalpat Vijay (D) Girdhar Asiya

T N H TR & —

'}/Match the foHowir;g -

Sect
(a) Charandasisect
(b) Alkhiya Sect
(c) Gudhar Sect
(d) Nawal Sect
Main centre/ Headquarters
(i) Jodhpur
(ji) Bikaner
(iii) Delhi
~(iv) Dantara (Bhilwara)
Code -
(A) a-(iv), b-(i), c-(ii), d-(iii)
(B) a-(i), b-(ii), c-(iii), d-(iv)
(©) a-(i), b-(ii), c-(iv), d-(ii)
(D) a-(iii), b-(ii), c-(iv), d-(i)

R R - -

e

i

a) J
b) emﬁ::m \
c) &S 9
d) #aa
g s ()
(i) <
(i) AR
(iii) freehe
(iv) =faer (frerarey
@ = }
(A) a-(iv), b- (l] c- (n) d-(iii)
(B) a-(i), b- (n) c- [lll) d-(iv).
(©) a-(i), b- (ln) c-(iv), d- (ii)
(D) a-(iii), b(ii), c-(iv), d=(i)
/5-/First scientific classification of Rajasthani
painting was presented by -
(A) Anand Kumar  (B) Dr, Faiyaz Ali
Swami
(C) Erik Dickinson '

IORA fomwer w1 weR gmen d=nfrw

—_~ —

—_~

(D) W. G. Archer

(A) SRR " (B) TRufy TR aiaRor faert R fo?
’ : (A)smwm (B) 2. Bur ared) -
(C) gayqg fasrg . sy SI. HATNT 3c
Paae 3 of 16
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16. \Vhich steel plant was set up before
Independence of India?
(A) Rourkela (B) Jamshedpur
(C) Bokaro (D) Bhilai

T e SREHT WRE B WA W e

3 wnfye fa mar?
(R) TRRBAI (B) THIRTR
(C) P (D) fremré

. In 2020-21, the sectoral contribution of the
industries sector in the total Gross State
Value Added (GSVA) of Rajasthan, at

current prices is - s
(A) 26.4% (B) 18.6% E«;g

(©) 21.7% (0 24.8%

2020-21 %, ASRAM T GHal Wbel WG T

T (GSVA) ¥ waferm ol W SeT & @1
@ IR & —

) @ (A) 26.4% (B) 18.6%

‘ (©) 21.7% (D) 24.8%

187 Who among the following is credited to be ’

first Lo bring camels to Marwar?

(A) Gogaji (B) Pabuji
(C) Tejaji (D) Devnarayan ji
fr=r % 9 AR wears W wdwem S @M @
| A fear wm &2 ‘
f . (A) Trmsh - (B) Trash
/ : ) TSt (D) REARITT Wil
* In Rajasthan, inserting a gold nail in the
middle of teeth by a woman is called -
(A) Bhogali {B) Toti

(D) Choomp

YR W, R Afzen g <id @ A o
W WY Wiel SigarT @l gl o § —

(C) Peepal patra

(A) arredt (B) g1
) droer gar (D) g

207
Who has been awarded “Water Steward of
the Year”, 2021 award for water
conservation?
(é‘) V.J'nod Bhardwaj (B) Ashok Gupta
(C) Vivel Bansal (D) Ajitabh Sharma

OS] YN @ g 9y 2021 T “diey Y
ST & Suv qreaw i Rar wa &2

(A) @i sRmarr (B) sreies Tt

(©) RAw et (D) aifSrem 2t

© LO(A) Khejadi

AA. Which tree/plant is used more for
00 beverages’ in Bhil tribe? -
(B) Grapes

(€ Mango (D) Mahua

B .
g*ﬂa S 5 09 weRl ¥y fsy ger /e
¢ AT ST R wmar €7 °
(A TR (B) 3R
) o ‘ (D) g3
ipWhich one of the following (Research

LOInstitute-Location)  is®  not  correctly
! S I
[~-matched? i i

(A) National Research Centre on Seed Spices

o -Tijara .
C(B) Central Arid Zone Research Institute —
Jodhpur - s

+—(C) National Research Centre for Arid
Horticulture - Beechhwal

(D) National Research Centre on Rapeseed
1  and Mustard - Sewar

%ﬁmﬁﬁﬁﬁﬁm (rgEr HRIE —
oy FTaferiT) gifer e &7

g(A)Wﬁumwaﬁng—ﬁm
Otg;ﬁﬂg&r;‘:aavm TR — TR
+— (C) \IERT I[SF &5 SenfasT AT B —

) R A S P —
l.-\_Bajastllan Ecol—Tourism Polfcy was released
in - . .
CQ(A) December 2020 (B) August 2020
~3(©) July 2021 (D) April 2021

7o) ;
Smm sHI-cRon AT o @ T -
(A) Ry 20207 (8) aFTe 20209
’ ) ers 2021% (D) aie 20217 -
* Which of the following is called the -
‘Khajuraho of Rajasthan'? ’
(A) Temple of Kiradu, Barmer
(B) Mahanaleshwar temple, Menal
(C) Eklingji temple, Udaipur
(D) Sas-Bahu temple, Nagada

?ﬁﬁﬁmvwmmm‘mw '
87

(A) RiNTE 7T WRR, AR -

(B) FEMERR N, Il

(C) vwfermsh AR, TeagX

(D) WRT—ag Hfax, AT

‘l",‘OG'C x
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Development

/is/l?ajastlmn Solar  Park
L Company Limited (RSPDCL) is developing

which one of the following solar projects?
(A) Bhadla - Phase V (B) Bhadla - Phase Il
(€) Bhadla - Phase 11 (0) Bhadla - Phase v

o Tk @@ Rwwa weh ffes
P 5 @ i @ o aareT
A6 R Y VET %? )
(A) e — Bp v, (B) arser — Gl
(C) argen — Bl (D) argan — BT IV

26~ The watershed of which district ef)
Rajasthan is included in the ‘Neeranchét~

iect'? 4
Project” <O

(A) Udaipur (B) Jhalawar o)
(C) Jodhpur (D) Jaipur Nap]
‘ Jodhp p &

R @ few Rrel @1 zf’ra'\fﬂe/—m*ﬂ?urc,tg
&7 +fRime aRater @ e Sl &
(A) STTR (B) SITclTaTSA~ )

(©) SirTge (5) ST

58

/The founder of ‘Jain -Vardhman Vidyalayjr~
: established in 1907 AD was - <O

(A) Radha Krishna (B Hiralal Shastri-

-Bohra ‘
(€) ArjunLal Sethi (D} Manikya Lal
Verma

1907 ¢ W wenfog < e faeme
@ o - . )
A) wrmgr aEwr (B) ERrerer el
(C) o wrer Wer (D) FfvRIEnel el
~The world's greatest earthquake beltis -
(A) Circum Pacific Belt
(B) Mid continental Belt - -
(C) Mid oceanic Belt ﬁé
(D) Circum Atlantic Belt ?

e 3 <raffers @l B 0 E -
(A) TR} g e
(B) we mRIgNT A
(C) W MR AT
(DY arecrlieds e
~“Salieliyon ki Bari’ was built by -
(A) Jagat Singh 1 (B) Udai Singh 11
(C) Sangram Singh I (D) Pratap Singh I

TRt @ ardy @ vl o —

1063380758 1063380758 * 106338

30. Phu.’dol£1irr)f'5hnh;)uraisheldinthcmonlh
of- .

(A) Chaitra

{C) Kartilc

~ (8) Vaisakha
(D) Pausha

TR T e el fir FEF A Arifon

femar ST &7
(A) 3 : (B) durdd

(¢) mifda (D) yrg L
31 Arrange the fellowing mountain peaks of
Rajasthanin the increasing order of height -

Gurushikhar, Achalgarh, I\’u_mbhalgarh,
Taragarh
(A) Kumbhalgarh, Taragarh, Achalgarh,
Guru Shikhar )
(8) Taragarh, Kumbhalgarh, Achalgarh,
Guru Shikhar
(C) Kumbhalgarh, Achalgarh, Taragarh,
Guru Shikhar
(D) Taragarh, Achalgarh, Kumbhalgarh,
Guru Shikhar ’
rorer & e i s @1 gard @ wed
w3 orafier ST —
TG, e, FEee, MRITE
(A) GriErTs, TRTTE, HATTE, THIEER
(B) aRTTe, HRTATE, ETTE, TS
(C) GTaTTe, e s, AN, G
(D) TRITTS, 2releTTy, dTTE, TR
—The commitiee constituted for merger of
Matsya Union in Greater Rajasthan was -«
(A) Dr. Mohan Singh Mehta Committee
*(B) Hiralal Shastri Committee
(C) P. Satyanarayan Rao Committee
(D) Dr. Shankar Rao Dev Committee

~m#ﬂnﬁwm1¢mmﬁma——vﬁlnﬁ
o wfea @ ¢ umfa o -

(A) <. wirg= feiE e il

(B) ERretier e A

(€) ). TrerREEr A A

(D) <. iR = Ak

" Which of the following types of forests
. occupy the largest percentage in India?

(A) Sub-tropical pine

(B) Coniferous

(C) Tropical evergreen

(D) Tropical dry.deciduous

Prafafea 4 3 f PR @ @ TRd
Jatfere i e 3 fasga €7
(A) SuTE Fidd wga (@s)

(A) v ¥ | (8) gey i 1l (B) g
(©) <im fiE 1l (0) g fife 1 " (C) W FizddT AeEER
. (D) 7 @icddiy I Iass
106-C & Page 5 of 16
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3/Salim Sagarand Suraj Kund water ponds are
/ located at - '
(A) Bala Quila Fort, Alwar
(B) Shergarh Fort, Baran
(€) Jaigarh Fort, Jaipur
(D) Junagarh Fort, Bikaner

e AR W X T VI T SRer
§-
(A) Tren forem, arera) #
(B) ¥x7Te foram, awi A
(C) SRS T, g i
) SErTe T, AR
- Whois the present Chairperson of Insurance

Regulatory and Development Authorlty of
India?

(A) Ajay Tyagi '
(B) Shiva Subramanian Raman
(C) Nand Kishor Singh

(D) Subhash Chandra Khunua

mmuzﬁmﬁﬁnmwﬁmmwa%

WA A B 87

(R) arsra @iy

(B) fra garlmE e

(C) -7 fovir i

) g =% gfea
- Jaisalmer was established in-

(A) 13" century (B) 12% century
(©) 11t century (D) 10t century

—m—m'\’aﬁwrtrﬂgzah—

?4 l\fl;;;mve EEFCSE are |0lllliqm the dE:EalC
&

part of which of the rollowmg rivers?
(i) Ganges
(ii) Godavari
(iii) Krishna
(A) Only (i)

(B) (i), (ii) and (iii)
(C) (i) and (iii).

(D) (i) and (i)

ﬁﬂﬁ@aﬁﬁﬁmﬁﬁn‘[ﬁ@@émﬁﬁ

9 UIg S €7
@iy wrm
(i) M=y
- (i) groomy
(A) e () -

" (B) (&), (if) T (i)
(©) (i) 72 (iii

(D) (i) @2 (i)’

AN

_/(Vecr Bharat Sabha' was established by-

(A) Sagarmal Gopa
(C) Kesari Singh
Barhath «.

(B) Arjunlal Sethi .
(D) Vijay Singh Pathik

R OTRA I ) WY 4 of)—

(R) WIRHGT T T~ (B) i 3t w5y

©) W Rie axgs (D) ﬁmo\i%rsufﬁfr
What rank did Udaipur from’ Rajasthan get
in the ranking of 100 cities under Smart City

' 39.

Mission?

(A) 28w “(B) 22nd

(C) 5t (D) 10:\-

e Ri& BRE & sierfa i o ¥ o
JONAT H ISAR B @ W T e

() 284t " (B) 228

(A) Home entrance

*(B) Dowry -

(C) Dinner on the occasion of marriage
-(D) Death-Supper |

meﬁ%*mTqWﬁmm

T 8?7 9

(A) -7 il
(B) T Eos
(C) faare & R W Wifa 1= .
(D) ﬂ-'&ﬂ’\}{ .

th opposite face, ycllow on anothcl fage

bl yell
5 1§t
“uncoloured. It s lhen cut in 12 smal r

cubes ofequal size.

! . How many cubes are uncoloured on all the
v faces?
\ (A) 48 (B) 64
(C) 36 (D) 27

Rl W B R W T, I UH TS B

ﬁﬁwwrﬁéwa’mwaﬁ:ﬁé

wﬁwm%]ﬁm&ﬂﬂﬂﬁﬁﬁm

mﬁélmlzswﬁwmﬁ
' B Wi ey ot €1

e w1 @Y W TR W 87
(A) 48X (B 6aa
(C) 36 (D) 27

)54 - " (D) 10 .
What is called the ‘Mausar’ in the customs o[
Ra]asthan’ )

) . (“"’/ll; a queue of students, R'},esh is fifth from
/ﬂcube is coloured red on one face, green on

‘wmqﬁwmﬁmwﬁ s'aﬁl
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Page 6 of 16

B oot

: %lf () means (), (+) means (x), (+) means

(-) and (x) means (+), then which of the
following equation is correct?

(M) 43x7+5+4-8=25

(B) 36-12%6+3+4=60
(©)52+445x8-2=36

(D) 30x4-12+5+3=420

AR ()1 A (2), (4) T (4, (2)
1 H () IR () 1 e (+) €, fre

45. Here, a statement is followed by three
assumptions numbered |, ITand 1. You have
"to consider the statement and the following
assumptions, decide which of the
assumption/assumptions is/are implicit in
the statement and choose your answer
accordingly.

' §[ atement : The book on Vedic maths is so
prepared that even a layman .
can study it, in the 'lbsenw ofa
teacher.

Assumption : [ A layman wishes to study

Vedic maths without a
teacher. :
11 A teacher may.not always bc

o R E 5
. wm[ T st _SXL{ * available to teach Vedic
AMA3%7:5+4-8=25 - vk
(B) 36 -12x6+3+4=60 L..'svg,_ 7-5%Y+&L.  1rAlayman generally finds it
C 2 difficult to learn Vedic
A {H 5x8-2=36 u3 ..Hﬁr‘f'g r ’7’5‘\’( maths on its own.
(0)30%4-12+5+3 =420y h;% L ,(4)@lly [ and Il assumptions are implicitin

/}a/f it was Sunday on_ 18" Decunﬁer 19 2+.,_D

what was the day on 237 Decembel 19847
(A) Monday
(C) Friday

(B) Wednesday )gp_

(D) Tuesday —t(—(?'

e

afe 18 fRsrar 1982 vﬂm‘an, 23 r%wq;_’é‘

1984 T 7T IR 1?
(A) WmIR
(€) AR

20
(b) TR

_the left and Mamsh is sixth from the right.

the statement.
yzt 'iﬁl\(mly 11 and 111 ai.snmptlons are implicit
in the statement.
2 & (C) Only I and Il assumptions are implicit in
(o the statement.
— . . . . 5
(D) All assumptions are implicit in the
6" '
statement. -

uﬁ,wmm%wmiﬁf{!{cﬁmﬁlll
e (1 TS F )| SNUm] HA Tl T
3t @7 er i Y gy ful T B
& Al qmmvn/fmcrrwrrq e 1 OAIed
¥ T S & WU 30 IR g |
A ¢ dfea T A [ g3 de@R aeE
W%ﬁﬁmwaﬁwwmﬁﬂ

they iffterchange their places among J 2o A e @) qqﬁuﬁ § TP
e th :Iiives;, jesh becomes thirteenth “'557' QNI B THAT T | .
tl 1M, pomlon'ofl\’lamsh from g SRl S qtr WCW mﬁﬂ H_?T T ® f
910t 'l\‘lfr‘ SEYE & faer of uw afew
the rightis - . + /.-— T i‘ald T JTTT HN b |
(a) 5 , (Ea) 14t _H3% Il Afew i & s @ fere
© 16m (D) 15w FF@ & %‘2-‘ ST UH SaNge Syerel wTel
- T-g=5 o _tg | S
. 2
-yt P IR O 12} RURCIRIG E mrm WURYTT: T8
Wf&mﬂmdﬁqﬁnumﬁwhﬁjﬁmﬁ e T & R i Ao i
e jﬂﬂ%ﬂd‘faﬂvﬂwmblmu e Wi 7 )
IR H JUT X2 qGTR €, A A Al (A)‘mﬂﬂgrmvnulwlmzrﬂﬂn\mf‘a
mﬂm%aﬁr%lmqﬂqﬂaﬁm 2
3 Reffa 2 — ,sgé_ \55’// -(B)zmrgrmmn@mfnsmnwnﬁa
(4) 54 5 (B) 148 e - () Fa RO 17 11 & et ¥ wmfer
(©) 1641 ® 154 &l
(D) M1 gdarRvId Fem i qmfan #
106-C ¥ Page 7 of 16

Scanned with CamScanner


https://t.me/studyjobeducation/
https://t.me/studyjobeducation/

o

——

}‘/In acertain asje Janguage, ‘GREEN'is coded
79555 andYELLOW'is coded as 753365,

as
then the co@)r “WHITE'is -
B
(A) 639205 0 (B) 688935 e
(0) 58935 I

C (4P}

(C) 58925 o
Q.

Rl B SO, ‘GREEN 1 = 79555 @il

WELLOW' & g 753365 &, T "WHITE' &1
T~ n NG
() 689205 (8) 688935 ok _
_Mey58925 (D) 56935. s T
47. Find the miggpg number - . ! 3 2055
N~ - : G AN K %

1]
?

-0

7 : - " S
Flhitors g o

v

(345 . O , .
@13 ; s aei@®a
(€) 27 ' SR -
(D) 231 - ©o
N E
g w@n ﬁ%‘&ﬁﬁm - D%
ok ‘
. w 7 1 - ‘)'
rs 52 3F1 100 BJ A
u‘ g 6 7 (\(\
W) 345 — 2, '-5.23 E\ @ WA AR E —
() 131 by '
) _ 2\ e
(© 27 NG e
31 /(9 *"/ S|
) | X

- Vinit said, @ﬂs girl is the wife of the

E?

AL

grandson offmy mother.” Whois Vinitto the | .
girl? w
(A) Father-iffaw

o

(B) Father 8
(C) Brother-$aiaw
(D) Grand father

gy

49,7Th the following figure, the difference

between rectangles (except squares); and

(23

'\'7/ -

frer R, Tl (@ & R T PR

AR 3, e A A B o Wz Ly
2 el & | fafrg @ 99 ae@l 3w R (B) 1
g o
R l " &
(B) faar PR -
(C) TR : (:6 24
(D) €11
106-C ¥ Page 8 of 16

T

\ .
| /Study the following figure carefully and
\: answer the que'stion. Rectangle represents
represent
- ¢

Geologists. Triangle represents Scienti_stsu-:
-

Square represents Engineers. &

Mathematicians. , Circle

The Scientist who are Geologists also, bu

. nat Engineer or Mathematician -

V(AT (B) 17 o
(C) 14 @9 w
-
. e® |
forferid Ry @ enAEd qeet HE P
-

aeR @) s Ao W Tl &1 T

o8

3807

3

. (A)sinhZy

}/]n/cﬂnnual simple interest on SOMe money
is = of the principle. If the numbers

1e rate of interest and the

represcnting th
s are equal, then the rate of

number of year
interestis -

;
* ll;l%annual (®) le%annual

(C) 8% annual (D) 122104 annual
: . 2

ﬁmﬂaﬁ?ﬁm’ﬁﬂﬂa{ﬁ{gmcﬁm@r

SR @, gﬁﬂaﬂi—;glaf%ﬁqf’w SHD

qar gt § GHa BT wefi ox

'mﬁ,ﬁrmﬁa’{?-

(8) 12295 AT

(8) 11290 7%
(0) 1229 i

(C) 8% aIies

P P
%ﬁt‘anh (x+iy)=p*ig then;]-=

(B) sinh 2x

sin 2x sin 2y
(C) sinZy | (D) sin2x
sinh 2x sinh 2y

yfasnfat a1 aaitar &1 B A=l P DS ] o .
waic é’lﬂff’a" i ot e & B Uf‘«\'{'tanll[x«ri;«)zpnq,?ﬁgz ﬁ S\
7 4 - (A) sinh2y oy Yy, (B) SREE
b= - ;= ;
g . sin 2x 7k+-"\+ (’D,L,"( sin2y \S
[{o (C) sin2y (D) sin2x
(& sinh 2x sinh 2y
TSy =x-xt+ X3 =X e thenx =
e = _' (@ 2
L0 i b
- i N (€) iy (D) 1+
ey @ e A 3 g ehPrm SRR ’ 3
o & - ' ? R y =R XX oo, T X =
’ 9 P A) X B) ¥
(A) 7 ®17 Q. W X ®
(C) 14 (D)9 ¥ / g (C) 1% D) L+Y

17 Area bounded by the curve y = 2& - x? and

the linex+y=01is-
(A) 32 (B) 3t
6 6
(c)4: o2
6 2
ap y=2x- X Td WS XAl x+y=0% fiR
&5 B A € —

b 4 y
o parallel chords of a circle are length of
6 cm and 8 cm. 1f the distance between them
is 1 cm, then the radius of circle is -
(A) 6cm (8) 5cm
(C) 8 cm () 7cm

T ga @ D IR A 6 WAL AR
8 M. waE A 2 fz wh T
13 3 g B Bem g -

(A 2 () 1
(GEE KR (A) 637, (8) 5 3.
¢ 2 (C) gHA. ©) 727,
SEIL
: B
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56 If xeR, then the minimum value " of
(x2-6x +13) isequal to-

(A) 13 (B) 6
(©) 4 P (D)7
- TfE xeR, @ (- 6x + 13) BT *TH AM
TR ¢ —
) 13 B 6 . gD
© 4 o€ T

- If the length of a rectangle is incr\:‘\ascd by
20% and the breadth is decreased by 20%,
then the percentageincrease or decreases’in
the area of the rectangle is -

. (A) 4% increase
(B) 4% decrease
(C) Neither increase nor decrease
(D) Cannot be determined

T M 1 <iarg § 20% iy wY <R dierd
ﬁm%mﬂmﬁmmanmﬁg‘ﬁ
areh gfg a1 # o vl § - A

(A) 4% Ffa b
(B) 4% w1 Q
(©) 7 gf o & T 2b

D) ST HEl R Wahd S

The cost of 6 pens and 3 pencils is T 84. If
one-third of the cost of one pen is equal to
the cost of one pencil, then what is the lotal
cost of 4 pens and 5 pencils?

(4) 72 . B
\ (B) 68 \k&ﬁi

(C) 78 (D) 66

6mam3ww’@84?émﬁw
¥ F T 1 @-RE, W@ IR @ e
F W 2, awdaa*ans&ﬁm‘raﬂag—dq\;q

@ 87 6% 1
(Ay72 ; (B) 68 §
C) 78 (D) 66 - R
- Ifthree numbers are in the ratio4:5: Gand
Y their L.CM. is 3600, then H.C.F. of these
numbers is -
(A) 50 (B) 40
(C) 60 - (D) 200

gfe i el b1 U 4:5: Gé?ﬁm
g1 g AIgacd 3600 8, T 9w
& WA WAa § —

60" A fast train takes 3 hours less than a slow
train for a journey of 900 km. If the speed of
the slow traii is 10 km/hr less than that of
the fast train, then what is the speed of the
fast train? '

_(A) 40 km/hr

: (B) 30 km/hr .
(C) 60 km/hr

(D) 50 km/hr

900fa‘ﬂﬂaﬁumauzmqwaanﬁ ‘
AN Y, AR @ Y @ e A
36 BT I T Al 81 A vl Ay
AR A T, O A e @
B GE K 10 A xier o & @ o TR
B XTI P R

(A) 40 A /e
(D) 50 f5alt. /ey b

) 60 f&5A1. /et
Whlch among the following pair (Provision :o

- Article) is” incorrect in reference of BO

Panchayat RaJ7
(A) Constitution of Finance Commission to'
review financial position - 243 |
_ (B) Elections to the Panchayats - 243 A
(C) Duration of Panchayats - 243 E
(D) Reservation of seats - 243D

Wﬁm$manﬁmﬁaﬁmn(mm

— ITWT) T T 27

(A) R Refy & gqﬁ?vh—vf @ Pm ﬁ:ﬁ
JTATT FT TS — 243 F;

(B) aTelt @ forg Frafa — 243 R

R (C)Wumaﬁamfﬂ— 2433,

<_(D) Yol 7 armereT — 2439

tify the incorrect pair of Panchayati Raj

inttitutions mtermedmry level and related
state - .
(A) Taluka Panchayat Gujarat

~a, (B) Kshetra Panchayat - Uttar Pradesh

(C) Mandal Panchayat - Karnataka

(D) Panchayat Samiti - Madhya Pradesh -

o @ Ryl g @ gEwfy —
Wﬁ@ﬁffﬂmﬁ—w 4':
(B)-&T WA — STRAST g

(C) sigey GarRT — FACH

(A) 50 (B) 40 ‘ P
(€) 60 ) (D) 200 (D) verya wAfd — weaw<s
s P05 '
106-C %
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. (=35>
" (B) 30 . /it 9/

63.. Choose the wrong palr (State - Number of
assembly members) - “from the following
options -

(A) Bihar - 243
(C) Punjab - 150

ﬁ'ﬂﬁ‘.{fﬁﬁﬁ'ﬁfm‘ﬁ(ﬂ e el

(B) Gujarat - 182
(D) Assam - 126

* g fen) e g AT -
™ fagry -243 (B o -182
(C) gwma - 150 (D) 37 - 126 .

64,-'In which of the zonal counci
/ included? . ' 3
(A) Western region  (B) Northern région

(C) Eastern region (D) Southern region

Prefefira # SIS Ea il uRgg #

fwe 7
(A) aReE e (B) IT &T\':I .
©). gt & (D) <ferd) &

In which year Rajasthan State. Cm’nmi‘slslong

for Women was established?,

(A) 1996 (B) 1997 E‘é
(©) 1998 (D) 1999 :
-ﬁmaﬁﬁmmmﬁ%maﬂﬁmﬂﬂ
- A
C LMy 1996 (B) 1997
© 1998 . (D)1999

When was the State Secretariat established

in Rajasthan? EREEr
(A) April 1949 (B) November 1950

(C) November 1949 (D) April 1950

IR H smﬂ T{ﬁ?ﬂ_ﬂ ARSI ?7
(A) ariiel 1949 - (B) SR 19‘3,51
: (C) Fgm=R 1949 (D) 2@, 19504 4
/57-/11‘ which place of Rajasthan, there, isn't
. " patwari Training school? -
. (A) Kota (B) Alwar
(C) Tonk - (D) Chiltorgarh

IORA @GR E, mﬁtgﬁnw

il Rajasthan is
. 7 Match List - | with Lis

>'\’ﬁi—-l?ﬂ'\’}:ﬂ

To whom the Sarpanch gives lns/her.

resigne ation letter?

(A) Pradhan

(B) C.E.0. of Zila parishad
(C) Deputy Sarpanch

(D) Development officer of Panchayat Samiti

qRUE U T . AT 87

(A) HeTT1y -

(B) fre qRug @ e G

(C) IuwRUT

D) qara Ay @ faar iRcacal
t-Iland identify the

ect answer from the code given below =

List-1
(a). Maharana pratap Armed Bat
(b) Sardar Patel Police University
(c) First All Women Staff Police Station

corr

talion

' (d) Mewar Bheel Core

List-11
(i) Udaipur
(i) Jaipur
(iii) Jodhpur
(iv) Pmmpgarh
Code -
(A) a-(iv), b-(iii). c-(ii), d-(i)
(B) a-(i), b-(iii), c-(iv), d-(ii)
(©) a-(iii)b-(ii), c-(iv), d-()
(D) a-(ii), b-(iii), e-(iv). ), d-(i) -

Z o frem PRI SR

&3 Ry Mg oA W H TR P AT

—1
(a) HeRTOT R 3 e
(b) W& wed gfert favafaared
(c) uea wfEem R yferRT o

(d) #ars A PR

@ =1

(iy S<ag

(i), S

(ifl) SR

(iv) gdmTe.

BE = ¢

1A a-(iv), b-(iii), c-(d), d-(i}

(B) a-(i), b-(iii), c-(iv), d-(iip+
. (©) a-(iii), b-(ii), c-(iv), d-(i)
“ (D) a-(ii), b-(iii), c-(iv), d-(i)

-8 87

(A) ?FFET/ (B) TR

(€) <ty (D) ferireTe
106-C %
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%Wha‘t was the tenure of last President Rule
in Rajasthan?

(A) 15" Dec., 1992 - 031 Dec,, 1993 .
(8) 13 Dec,, 1998 - 04™ Jan.,1999

(C) 30 April, 1977 = 215t June, 1977
(D) 13t March, 1967 - 26t April, 1967

Torey ¥ sifm Wi AR @ st @
A7
(N 15 fe=iar, 1992 - 03 e, 1993
(B) 1 fewiaR, 1998 = 04 S, 1999
(©) 3038, 1977 - 2151977
(D) 137, 1967~ 26 I1i1et, 1967
__+%"What is output of MS Excel function = LEFT
(“RAJASTHAN", 3) & MID (“GANGA"; 2, 2)?
(A) RAJAN (B) RAJ &A .
(C) RAJA (D) RAJ & AN

10633807—58;

758

GH, TR BFEM = LEFT (“RAJASTHAN”, g_'f)
3) & MID ("GANGA", 2, 2) T JSeYE F1 82 | ¢
(A) RAJAN (B) RAJ & A =k
(C) RAJA (D) RAJ & AN A2y

72—Tn c¢ontext of network topology, match the

following -

(a) Mesh (1) Multipoint connection
(b) Star (2) Bulk Wiring

(c) Bus (3) Hub

® (3) - (2). (b) - (3). (- (1)
(®) (2) - (1), () ~ (3). () - (2)
(©) ()~ (3), () - (2). ()~ (V)
() (@)~ (2. 0)- (1. (- B)

g erE @ wed #, FE @1 Mo

: 1063380758 1063380758

gy —

(a) #rar (1) wedidigTe e
(L) R (2) I GiiEal

(c) aa ~(3) &

AA) (a) - (2), (b) - (3). () - (1)
(B) (a) - (1),(b) - (3). (- (2)
(©) (a) - (3), (b) - (2), (0) - (1)#

(P) (a) - (2), (b) - (1). (€) - (3)

(8) I Tga, W, |

Which of the following is correct s.equencc

in context of first to fifth generations of
computers?

(A) Transistors,

Assembly  language,

CRAY-2,1C, ULSI

(B) Vacuum tubes, Java, IBM-7030, VLSI, MSI
(C) ENIAC, Transistors

, CDC-6600, VLSI,
PARAM ’

'

(D) Machine language, ‘Transistors, ULS],

]AVA~IBM-701

Wﬁaﬂuwﬁwﬁﬁm$mﬁ‘
'%ﬂﬁﬂtﬁmﬁmwg?

() Zifdreed, el W, CRAY-2, IC,

uLst *
IM-7030, VLS, MSI
(C) ENIAC, Tifvre, CDC-6600, VLSI, 774
(©) TE &, ;Tﬁﬂaﬁ ULSI, JAVA,
IBM-701 :

Which of the following are true statements?

I: Primary storage units have faster access
_time and less storage capacity as
compared to secbndnry storage units.
1I; Primary stbrage units have sequential
access

Ml Sccondary storage units are non- volmle
storage. . :

(A) Tand Il only .

(B) land lonly -~ A

(©) Iland Ml only '

(D) All'L Hland I1T "~

ﬁﬁﬁﬁaﬁa’ém“ﬁﬂé?

@mm%ﬁaﬁmﬁwﬁm.

" HeROT THIET BT I eI A
HSROT &7 9 BRI € | fal
11: e SR g s ST
- (e v w81
111 fedires ieReT SPIeTT IR—aToTiTet
. (FiF-drereTge) WSRYT gl & |
(A) dger | a1 11

(B) $aa1 | g2 111
(C) waer Il T il
(D) 1, 11 o I <31

106-C ¥
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—_—

| 3 - i inter is measured
/‘-/Choosc an invalid pair - Mlu output quality of a pri
/ () JAVA, IBM ' LCP) by - _
" (B) C++, Microsoft E,, (A) Dot per sq. inch
, Mic | J : b
(C) C, AT & T's Bell Laboratories ) (B) Dot per inch i
(D) LISP, MIT ' P (C) Dots printed per unit time
o T (o Alofthese
o ¢
it ‘(‘_‘. - C AL, “ o
. -arfa| T F AT B B/ wﬁizvafr:m?g‘:'ﬁﬂﬁﬂﬁﬂmm’ﬂm
(A) JAVA, AT, b
' i o
(B) G+, ATSHIAITE B AP TS
S - AN (A) Gic K
(C) G, AT & T's I ARG ‘ES e
D aEd 3= Wil ’
(D) LISP, THATEET E iy of?% . (© gfea <rew R T T
Monsjder the following screer‘1 par S E% gt <
o o ‘ > 79. who invented the High Level La nguage 'C"?
I: Quick Access Toalbar : o = .
1I: Document Tab ‘ i (A) Niklaus Wirth
lli' File tab on the Ribbon ‘ E{: b (B) Donald Knuth
IV: Status bar r’f? (C) Dennis M. Ritchie
" Which of the above orfcls the save, undn and ¢ ‘ (D) Seymour Papert
[=8)
repeatoptmns’ & o . ) IO,
{A) [ and Il (B) Illand IV i €3 g wrael e O P 2 PR [hd
(€)', 11 and LIl (D) Tand 1l 8w ]
=l (A) ferd R
T, S 2019% e '@ﬁ‘!—q'ré“ﬂ o fER (B) SIS EA
iy B oFmw A
%W m AR ES ) TTEI,'\’W
t: =Y gw Open the .existing present'mon in
Ik ﬁzﬂq—\’ Uil & (o P MS-PowerPoint, which. of .the following
W )y 8 shortcut key is used?
mqﬁmuﬁa ans\amﬁﬁ"ﬁm s (A) Ctrl + 0
el T & oy (8 Crtl + L
(A) [ T 1l (B) 111 sV - ©) Cirl + A
(C) I, 1Tl (D.) I?TQJT”! (D) Ctrl + N
77, Maximum characters in a cgll, a worksheet :
can contain are - i TI.GRI. GiaR Uigwe 7 faamr segdieser et
(A) 64 (B) 128 ® fr, B W W e i@ wull T
© 512 (©) 256 i o T 22 ,
A crl+0
e i T 4, o a“ ey (8) Crtl + L.
TSRS, (C) Ctrl+ A
) ® 120 (0) Ctrl + N
(C) 512 (D) 256
106-C ® Page 13 of 16
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8/-/Select from the given options the sentence
which correctly transforms the following

Direct speech sentence in reported speech.
Sentence: "Please, could you tell me the
answer?", he said;
(A) He asked me to tell him the answer.
(B) He said that please could I tell him the
answer, .
(C) He requested if 1 could tell him the

answer, _ .
(D) He asked me please could I tell him the

answer.
- Fill in the blank with the correct

preposition -

He has beenill ............. last three months.
(A) for (B) by
(C) since (D) from -

“Many amusing stories are told about Mark
Twain.”

7 In active voice the sentence will be read as -

(A) People tell many amusing stories about.

. Mark Twain.

(B) People are being told many agnusirig _

stories about Mark Twain.
(€) Mark Twain tells many amusing stories
to people. :
(D) People are telling many amusing stories
about Mark Twain. - .
/~ Fill in the blank space in the sentence given
below selecting appropriate set of words
fram the following options -
the voters ...
stations any way they could.
(A) Worried, Lost
(B) Satisfied, Turned
(C) Undaunted, Made
(D) Encouraged, Prepared
5. Choose the correct option that expresses the
meaning of the underlined idiom -
They have been at daggers drawn for weeks
over their distribution ofancesrralpropeny
(A) be bitterly hostile towards each other )
(B) to live separately '
(C) not on talking terms
(D) to live calmly

106-C' %

by long queues and bad weather
-their way to pono,

Page 14 0t 16

Choosc the correct form of the verb/tense
from the given sets of options to fill'in the
blank space in the sentence -
“When we got to the theatre the play ...
already..... 5
(A) had becn/ beﬂun (B) had/begun
(C) has/begin (D) was/began
Match Column I with Column Il to form
correct proverbs -
Column-1
(a) Aleopard
(b) Everycloud
(c) Don'tcry....
(d) Jack of all trades
Column-I1

(i .hasa silver lining
(ii) ~can’t change its spots
(17 [ master of none -
(177 R over spilt milk

(A) a-(iii), b-(ii), c-(iv), d-(i)

(8) a-(ii), b-(i), c-(iv), d-(iii)

(C) a-(iv), b-(ii), c(ii), d-(i)

(D) a~(i), b-(ii), c-(iii), d-(iv)

Pick up an appropriate option from the

" given alternatives to which this sentence
can be a response - :
“No, I haven't”- : _

(A)'Has you completed your homework?

(B) Is your homework completed?

(€) Did you complete your homework?

(D) Have you completed your homework7

89/ Match the following -

(A) Words

(a) Conspicuous

(b) Transparent /
(c) Obsolete A3
(d) Obscure g
(B) Antonyms

(i) Opaque

[(ii) Clear

(iii) Concealed .

(iv) Contemporary

(A) a-(ii), b-(i), c-(iv), d-(iii)
(B) a-(iv), b-(iii), c-(ii), d- @]

* (©) a-(iif), b-(i), c-(iv), d- -(ii)

(D) a-(i), b-(ii), c-(iii), d- -(iv) )

After ten years war, China gave in. (Choose
the correct meaning of the underhned
phrasal verb) .

(A) started afresh
(©) surrendered © (D) won

. B) refrained

A fory ww v @ ol § e
(A) St ARl o 3 forr T €1 — i
(é)ﬁ}ﬁﬂﬁﬁMzﬁam_mé@mg_

el

(©) s Frearer 3 e i & — Rt
(D)m—aiwz‘mpﬁmémm—w

oz ibikaka il

ﬁﬁm— .
(A)aﬁ‘a’“ﬂﬁ‘m o IR '
(B)WW TR T
(cmﬁmfﬁﬁ R
(D) Ea, GlelT — A A
/M/mifﬁiﬁfﬁﬂmmm
(A)awvm;w & o e
(8) erie — a8 < o7 <1 gf & T €
(c)m_ﬁ@m'aﬁfmﬁig
. (D) AR T — WNEFEWIW
Mmﬁ—mwﬁ—ﬁmﬁ“ﬁwg’
() T = W+W
@R =T R
(c)sz%ﬁ T fR;

(D) AR = T o+ T

//mmfaaﬁwra—wﬂ‘m %

o — ST
(g)gm—squﬁﬁ :
o — s
(0) 3 — ST

'?fFT amq:{:ﬁﬂ:{]‘[ﬁ?ﬁ[{ﬂﬁg—

(A) a1 31 T @

(B) gerfRerfa # &

(C) ufkafifa afeferfaal ) 9% Y@

(D) 3[GAT—=3TAT 17T o
%ﬁmmﬁm—ﬁaﬁemj—ﬁam‘r?ﬁ

) PR — A%
1B) Rft-f=s — e
_ (C) fagor-fafor — qER-3PT
(D)m—ﬁ;w‘aﬁ

. W-

(W) g 4 o = AT

.(B) 3yt + T = WA

Q)q;m+er-ﬁﬂ=w
99, e T GA DI —
I R, A
(8) tef, &r, TS
maﬁ“f et T
(D)T{TTCI FW _"‘TTF_(
100. frefefoa Tl W AR @ -
W frfEoll, TERdEd o
(B) ST, S
([0 NI
‘R fawe @ T R I8

(A) A, B 3R C .
(B).AC’:fRC ’
(C).A R B

(0) =R faed 7@ €
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